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m=0.85SL = ( 1 - 3.000V =~ 100)= 26.8

m = SL =( 1 - 2.000V = 100)= 28.6

UEXY, BEEFEEMm = 28.6(N/mf) & LET, m= 28.6(N/mf)
K& A BEL(W/C)

W/C =22.5 —( 28.6 + 10.6) X 100 = 57.397 (%) W/C= 57.0(%)
ALK E (W) LA ERE W= 143(kg/nt)
B A FE(C)

C=W-=WC X 100 = 143 = 57.0 X 100 = 251 (kg/nt) C=251(kg/nf)

Ve =C ~pc= 251 = 3.04= 83(Q/n) Ve=  83(Q/nt)
HEMOIERE(L/nf) LA ERIE V= 661(0/n)
BACEE = (G)

Vg = V XZEREHE+ 100 = 661 X 61.5 + 100 = 407(L2 /nf) Vg=  407(LQ/nt)

Vgl = Vg X( 40 =( 40+ 35+ 25))= 163(Q/nf) Vgl=  163(L2/nf)

Vg2 = Vg X( 35 =( 40+ 35+ 25))= 142(LQ/uf) Vg2=  142(LQ/nf)

Vg3 = Vg - Vgl — Vg2 = 102(Q/nf) Vg3=  102(Q/nf)

GL =Vgl X pgl = 163 X 2.72 = 443 (kg/nf) Gl= 443 (kg/nf)

G2 = Vg2 X pg2 = 142 X 2.72 = 386(kg/nf) G2=  386(kg/nt)

G3 =Vgd X pgd= 102 X 2.72 = 277(kg/nf) 63= 277 (kg/nt)
BANLAE A & (S)

Vs =a/))-y&EfFE-( W + Ve + Vg +Vair)

= 1000 —( 143 + 83 + 407 + 45 )= 322(Q/nf) Vs= 322(Q/m)

Vsl =Vs X( 50 =( 50+ 50))= 161(Q /) Vsl=  161(Q/nt)

Vs2 = Vs — Vsl = 161(Q /nf) Vs2=  161(Q/nf)

S1 =Vsl Xpsl = 161 X 2.65 = 427(kg/nf) S1= 427 (kg/nf)

S2 =Vs2 X ps2 = 161 X 2.55 = 411 (kg/nf) S2= 411 (kg/nf)
AEHTER (s/a)

s/a= Vs= (Vs+Vg) X100 = 322 =( 322 + 407) X100 = 44.2 (%) s/a=  44.2(%)
BANTIRFNAEI & (Ad)

Adl = C X IBHIIZEX padl=100

= 251 X 1.00X 1.100-=100= 2.76(kg/nt) Adl= 2.76(kg/nt)
fiies (kg nf)
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VEOHREE % (RT3 5 41 - A | UL AEREO R
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ZEEMRER (V) A ERIE V= 80%
Bt A58 B (m)

m = 0.85SL = ( 1 - 3.000V = 100)= 26.8

m = SL = (1 - 2.000V + 100)= 28.6

DLELY, BEETEE (m) = 28.6(N/mi) & LET, m = 28.6(N/mf)
KE AL M W/C)

W/C =225 +~(28.6 + 10.6) X 100 = 57. 397 (%) W/C= 57.0(%)
BALKE W) LHEERE W= 140 (kg/nt)
B AL FE(C)

C=W = WC X 100 = 140 + 57.0 X 100 = 246 (kg/nf) C= 246 (kg/nf)

Ve =C +~pc= 246 + 3.04 = 81(Q /nt) Ve= 81(LQ /nf')
HEM D SEE(LQ/nf) B ERE V= 661(Q/nf)
HACHEME(G)

Vg = V XFEFER- 100 = 661 X 61.5 ~ 100 = 407(2/uf) Vg=  407(Q/nf)

Vgl = Vg X( 40 =( 40 + 35+ 25))= 163(L/nf) Vgl=  163(Q /mf)

Vg2 = Vg X( 35 =( 40 + 35+ 25))= 142(Q/nf) Vg2=  142(Q /nf)

Vg3 = Vg - Vgl - Vg2 = 102(2/nuf) Vg3=  102(Q/mf)

Gl =Vgl Xpgl = 163 X 2.72 = 443 (kg/nf') Gl= 443 (kg/nf)

G2 = Vg2 X pg2 = 142 X 2.72 = 386(kg/nf) G2= 386 (kg/nt)

G3 = Vg3 X pgd= 102 X 2.72 = 277(kg/nf) G3= 277 (kg/nt)
BALAAE A = (S)

Vs =a/))-SfE-( W + Ve + Vg +Vair)

= 1000 -( 140 + 81 + 407 + 45 )= 327(LQ/uf) Vs=  327(Q/nt)

Vsl = Vs X( 50 =( 50 + 50))= 164(LQ/nf) Vsl=  164(Q/nt)

Vs2 = Vs - Vsl = 163(0/nf) Vs2=  163(LQ /nf)

S1 =Vsl Xpsl = 164 X 2.65 = 435(kg/nf) S1=  435(kg/nt)

S2 =Vs2 X ps2 = 163 X 2.55 = 416 (kg/nf) S2=  416(kg/nt)
HHE B2 (s/a)

s/a= Vs+ (Vs+Vg) X100 = 327 +=( 327 + 407) X100 = 44.6(%) s/a= 44.6 (%)
HALRFIEIE (Ad)

Adl = C X EIEX padl+100

= 246 X 1.00X 1.100=100= 2.71(kg/nf) Adl= 2.71(kg/nt)

ek (kg nf)
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won | ereag | wumg |7 XG0 BEHGRCHE | SRR
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B OIS £ B K] i AT EMILC S0 B HaY)) - O BT R - kg/nt
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%LE,% TR EE O FRE & OV il it f BB R O A 22l BRI B EED EIR = kg/ it
e f’”‘ﬂ:%aﬁa_ ‘ 0.30 k /m’L/LT ﬁﬂt;g@@ﬁtﬂé@ﬂ& B kg/ i
LU S % (RS 2 bl = B FIR
=a - o [FOERw757 W . ~
EEMRE V) YHERIE V=800
Bt & 58 (m)
m=0.855L =~ (1 - 3.000V =+ 100)= 26.8
m = SL =( 1 - 2.000V =~ 100)= 28.6
UEELDY, BEETEE m) = 28.6(N/mf) & LET, m = 28.6(N/mdf)
Kt A REEW/C)
W/C =225 +(28.6+ 10.6) X 100 = 57.397 (%) W/C= 57.0(%)
B K E (W) L ERIE W= 137(kg/nt)
BAIE A FE(C)
C=W = W/(C X 100 = 137 = 57.0 X 100 = 240 (kg/nt") C =240 (kg/nt)
Ve =C +pc= 240 =+ 3.04 = 79(L /nf) Ve= 79(Q /nt)
HHEM N SEFFE (L /o) LA ERIE V= 661(0/nf)
BACEE M £ (G)
Vg = V XFERELR - 100 = 661 X 61.5 = 100 = 407(L/nf) Vg=  407(0 /nf)
Vgl = Vg X( 40 =( 40+ 35+ 25))= 163(L/nf) Vgl=  163(Q /nf)
Vg2 = Vg X( 35 +=( 40+ 35+ 25))= 142(Q/nf) Vg2=  142(Q /nf)
Vg3 = Vg - Vgl - Vg2 = 102(Q/nt) Vg3=  102(0 /nf)
Gl = Vgl Xpgl = 163 X 2.72 = 443 (kg/nt) Gl= 443 (kg/nf)
G2 = Vg2 X pg2 = 142 X 2.72 = 386(kg/nf) G2= 386 (kg/nt)
G3 = Vg3 X pgd= 102 X 2.72 = 277(kg/nt) G3= 277 (kg/nt)
BALAAE A & (S)
Vs =a/))- &fHE-( W + Ve + Vg +Vair)
= 1000 -( 137+ 79 + 407 + 45 )= 332(Q/nf) Vs=  332(Q/nf)
Vsl =Vs X( 50 =( 50+ 50))= 166(Q /nf) Vsl=  166(Q /nf)
Vs2 = Vs — Vsl = 166(Q /nf) Vs2=  166(0 /nf)
S1 =Vsl Xpsl = 166 X 2.65 = 440 (kg/nt) S1= 440 (kg/nt)
S2 =Vs2 X ps2 = 166 X 2.55 = 423 (kg/nt') S2= 423 (kg/nt)
HEA R (s/a)
s/a= Vs (Vs+Vg) X100 = 332 = ( 332 + 407) X100 = 44.9(%) s/a= 44.9(%)
BNLIEFNHI & (Ad)
Adl = C X IINEX padl+100
= 240 X 1.00X 1.100=100= 2.64 (kg/n) Adl=  2.64(kg/nt)

Blax (kg nf)
tvh BRI QO | IBFA @ 7K HMEBHO|MEHO | MEHOHEHO |HEMO | HEHO| IBFEIO| IRFIFIQ)| IBFnFIG

240 - - 137 440 423 - 443 386 217 2.64 - —~
KEAL R 57.0 % | KiEEHE ] — % | B M E ] 44. 9 %




